H 5I#B

20244 8H 4H (H)

P-1

(g fr | K 4 PR gapE GROSS| HDCP | NET wm oz
(3 A1 N 41 4T 88 |23.0| 65.0
RS | A EER 42 44 86 |18.0 | 68.0
SNL| K7E Bkt 46 42 88 20.0 | 68.0
AL | ORI & 45 51 96 |28.0 | 68.0
,,,,, SR PN i 4442 8 160 7.0/
6N | fEfE  Sisg 47 42 89 | 19.0 | 70.0
L | E IETE 48 = 43 91 |21.0| 70.0
8hr #wH H 44 44 88 [17.0 | 71.0
ofir| Kt JRH] 46 © 50 | 96 | 25.0 | 71.0
CLofn ) A FET 48 52 | 100 129.0} 71.0)
17| B5H 7% 45 43 88 | 16.0 | 72.0
1207 | Eifls  BEOR 49 © 41 90 |18.0 | 72.0
13| i —BRB 48 46 94 22.0 72.0
IRV = 42 46 88 | 15.0 | 73.0
IR CIVANTE S S 48 0081199 726.0 7.0
1607 | =% =IGES 42 47 89 | 15.0 | 74.0
176 KH B 45 46 91 |17.0 | 74.0
180 | FIH 7= 46 © 48 94 |20.0| 74.0
1947 | S2)I1 JEE 46 49 95 | 21.0 | 74.0
20| AR HE 49 43 92 17,0 7.0
UL | /NG SEFR 49 © 48 | 97 [22.0| 75.0
220 | VA ST 44 54 98 123.0| 75.0
2307 | TR SlHE 50 © 50 100 | 25.0 | 75.0
2400 | K —1H 48 © 52 100 |25.0 | 75.0
25| AR BEER 44049 o 93 1707600
260 | =K% HEWR 52 57 109 |31.0 | 78.0
27hr | B FE 46 52 98 [19.0| 79.0
28 | =K Ik 49 = 50 99 [20.0 | 79.0
2907 | &)1 #5— 49 = 53 102 |23.0| 79.0
3ofr ) fA ¥EH o 57 53 | 1o |31.0 7.0,
SIIVAIRIE Y S S 49 © 46 95 [ 15.0 | 80.0
320 | BT 1T 58 | 66 124 | 44.0| 80.0
3307 | BAT RN 51 = 55 106 | 25.0 | 81.0
340 | N & 59 55 114 |33.0 | 81.0
R EUARE 49 56 105 23.0) 820
36| I FHZ 52 @ 53 105 [22.0 83.0
3TIL | 78 HEVS 51 @ 59 110 127.0| 83.0
(L | LA FHA 55 @ 53 108 [23.0 85.0
N R ik F=i& 47 47 116.0 | 39.0
. J
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